Day Three - To add two four digit numbers with more than one exchange using the formal written method

	
	Th
	H
	T
	O

	
	2
	4
	5
	6

	+
	1
	3
	5
	4

	
	3
	8
	1
	0

	
	
	1
	1
	



1) 2548 + 1252 =

2) 2443 + 1277=
3) 3285 + 1325 =

      4)     4274 + 2176 = 

5) 3342 + 2269 =
6) 5583 + 1257 =
      7)
4176 + 2629 =

8) 6338 + 1375 =
 9) 5317 + 1598 =
   10)    5299 + 1315 =

11) 5487 + 2147 =
12) 4448 + 3382 =
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Reasoning 1 Add Two 4—Digi‘t Numbers (3)
When I add two
) numbers together, I
will only ever make
up to one exchange in
each column.
59 (== Do you agree?
Explain your reasoning.
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2456 + 1354 =  








